
 

20257143A Midterm 4 21 2025

Solution

1 A Yes 5 49C is more negative

B No 2 roots are both real or complex

C False Driven oscillator is always oscillating

D independent remains a constant

7 W W Whendampingdominates larger displacement at lower

7 Wold M 2M K K 2 doubledisplacement Tm 1T

G muchlonger
b 4mWE willbecomepositivewhen wo is lowenough

H.CH4 more particles more modes
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Let x ̅ Aeiwt WI WEM I

Let α MA a A detl 2,121.1
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α 1 α 32 2 2 0

2 1 α 2 3 0 W Wo 0 T3Wo eigenfrey wo.TW

C For 2 1 14 111 0 1 1 as compression

For 3 11 0 5 1,2 asymmetric

3 A ckl ixjéikxdx
S ei8x éifx éikxdx
2T d k f dck q dikqi I Siktf
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C Cc Cs x A 4
4cx.tl As cosfix ot A s cos fixtot

There are 2 waves with Als and velocity IV


